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Topic:- Physics

1) If the radius of the earth were to shrink by one percent (its mass remaining the same), then the acceleration
due to gravity on the earth’s surface would .

I et A Brewr wF wfoed a& Rgs I (30F soue a8 @), @ gedt A §AE W qoed F FROT
cavoT I

1. decrease / ©CIM

2. increase / §&IM

3. be reduced by one percent / Teh UfATd deh ©C ST
4. remain unchanged / H H1S IRAIT FET g

Correct Answer :-

« increase / I

2) When a bar magnet is slowly brought near a paramagnetic substance, then the paramagnetic substance
will .

F &3 g9 F RN 99 0F e 9ar F 9 AT S1ar ¢, @ AHeqhah gard
1. be feebly attracted / ST & R g9

2. be feebly repelled / foserdr & I Gehel feam STUam|

3. be strongly attracted / T&AT § 3TN &R

4. remain unaffected / 3T93TTTad Igam|

Correct Answer :-

« be feebly attracted / IGEEGUR:EEICIAG] gIamm|

3) When does a convex mirror form a magnified image? /

3cde GUOT U HTafdd Yiafdd Fa qarar 82

1. When the objectis at F. / ST a&q F ©X glar %l

2. When the object is beyond 2F. / ST a¥q 2FF oY gidr gl

3. When the object is between F and R. / ST 9&d F 3R R& 7L gl gl

4. It never forms a magnified image. / I8 F3T o7 IMafT wiafds F& F=aT 8l

Correct Answer :-

« It never forms a magnified image. / Ig AT AT 3mafda gfafss & s=irar 2l



4) A mass ‘m’ is suspended from a spring and its frequency of oscillation is ‘f*.The spring is cut into two equal
halves and the same mass is suspended from one of the two pieces of the spring.The frequency of oscillation of the
mass will be: /

‘m’ GEAATT U FOIT & CHAT a7 § AW $HHT areer i amgfea ' &1 FBver & & sy fowwt o Frer
ST § 3R WA geaAe Y R & Y gl A § v § dewr A e §) gewHAe F g
smgfea gei:

1.V2f
2.
3.2f
4. 12

Correct Answer :-

« \2f

5) A person standing on a lift is moving upward with acceleration ‘a’. The apparent weight of the person will be:
/

Rire & @sT v afFd cavor 'a' & Y FU A I 96 T@T &1 AfFd 1 ITHTET aoreT gem:

1. Less than the actual weight / ATEdide dolel & HA

2. More than the actual weight and continuously changing / dT&dfa® doll & 3% Td Tdd EECRERICE
3. Zero/ e

4, More than the actual weight and have a fixed value / arEdias aoid & 31T Ua [ATTd AT & AT

Correct Answer :-

» More than the actual weight and have a fixed value / arEdfaes goi & 31f8 d AT A & T

6) Current gain in a common emitter configuration of a transistor is more than one because: /
T IO & AT TR faeam & 4RT afsy v @ 10 §, F9ii:

L Ie<Ip

21.=1p

3. 1>

4. 1.>1,

Correct Answer :-

« [>]h

7) A spherical ball of mass 20kg is stationery at the top of a hill of height 100m. It rolls down a smooth surface to
the ground, then climbs up another hill of height 30m and finally rolls down to a horizontal base at a height of

20m above the ground. The velocity attained by the ball is: [given: g = 10m/s? and the path followed by the ball is
frictionless] /
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20m1mmmﬁwmmﬂa1oomuﬁqmﬁ$eﬁ#wf?ﬂa%la‘g:ﬁﬁmgm
aﬁawwﬁwﬁmwwm%ﬁwaomasﬁhwaﬂrw@wm%aﬁrmﬁmﬁ

20 ey #ir FAE W U aifdsr YR W AT Jewar g1 g g@rT e A9 g (AT AT §: g = 10mys? AR
% g@RT o S aTeT I SRR 1)

1.40m/s / 40 He/AHs
2.20m/s / 20 Hre/Ahs
3.10m/s / 10 Hex/AHs
4.30 m/s / 30 He/AFHE

Correct Answer :-

o 40 m/s / 40 HeY/AHhs

8) What happens to the energy level of an atom as the quantum number increases? /
FalcH VEAT 9g1 W TH WA F FaAl T T FAT g 82
1. The energy level of an atom remains constant /
T TA] H Foll T [ @r B
2. The energy level of an atom decreases/
T& URATY] & Foll Tl Tedm 8l
3. The energy level of an atom increases /
TS A H Fofl F TG §
4. The energy level for low atomic numbers and increase for high atomic numbers /
o RA] HEa & v Fo &R AR 3w WA e & o gi
Correct Answer :-
» The energy level of an atom decreases/

Teh GRATY] &l Foll F el gl

9) Rotational motion is possible / E[\Uﬁ Ifa g %’:

1. Only in two and three dimensional motion / hdel & AT dleT GFRT afa &
2. Only in one and two dimensional motion / Shdel Ueh AT & GHAT a1fcd &

3. Only in one dimensional motion / hdel Ueh AR a1fe &

4. Only in three and one dimensional motion / del cifel AT Teh faHRT afa &

Correct Answer :-

« Only in two and three dimensional motion / hdel & AT dleT fa&T afa &

10) Convection does not take place primarily in: /
g HAET TI ¥ A ¢ g &

1. Heating of air around a furnace /
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T gl & IRN 3R gaT & drdel
2. Warming of the glass of the filament lamp which is evacuated /

fWhenidie T (g deT) & Fema @ a0t o &; S @diiod &ar w2 gl
3. Land breeze and sea breeze /

el AN 3 ST FAR

4. Boiling of water /

UTelr & Idoler

Correct Answer :-

« Warming of the glass of the filament lamp which is evacuated /

helldie e T (dq oF) & FIeamg 1 713 e #; S Haifad far @ g

11) An electric heater of 2.16 kW is immersed in water. After the water has reached a steady temperature of
100°C, the time taken to produce 200g of steam at 100°C is (Lgeqm= 540 cal/g): /

2.16 frdiare aren T gafFes dieX gl # gaRT Sar {1 9l F 100°C & fRR A a% e &
15, 100°C 9T 200 IATH T FT FAT Fa & T I 7197 T79T (Lapsg =540 Fardi/am &

1. 200s
2.210s
3.105s
4. 50s

Correct Answer :-

« 210s

12) An erect image two times larger than the size of the object is obtained using a concave mirror of radius of
curvature 20cm.Find the position of the object. /

T dielt of, avg & WER F & I TP gl T S 20 [ A FHan B F srgae gHOT FIAANT
X gITd HT S ¥l aFG H Rufa @@ Hiewl

1. 3.3cm in front of the mirror / GYUT & THT 3.3 [T,

2. 5cm in front of the mirror / 9UT & AT 5 [T, &l Eﬁ T
3. 10cm from the image / &Td & 10 F#T.

4. 6.6 cm in front of the mirror / EUUT & AT 6.6 WY

Correct Answer :-

¢ 5cm in front of the mirror/a'fj'UT & giEasT 5 @A & E;ff T

13) A moving particle of mass ‘m’ makes a head on collision with another stationery particle of mass ‘2m’ and
sticks to it. What fraction of its initial kinetic energy will the mass ‘m’ loss after the collision? /

SEAAT 'm' AT U ATAAT HOT FeaAT 2 e &F gy AT F7 F Y S-S THUT § 3R
=Hd RUF Jar ¥ TF F 9€ g FA 'm' H S0 UREAF AfaefieT It F raer 3ier 1 gl e
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W |

18

O | o

a8

Correct Answer :-

14) An astronomical telescope set for normal adjustment has a magnifying power of 20. If the focal length of the
objective is 1.0 m, then the focal length of the eye piece will be: /

WA FARNST & fav de 5y a3 v @aelT queedt #1 smader amar 20 §1 afG ffeeas i wew
g 1.0 #t &, @ At B wrew g gl

1.70 cm / 70 T
2.5cm / 5 QY
3.7cm / 7 QFAT
4.50 cm / 50 ¥HT

Correct Answer :-

e« Scm / 5 QAT

15) Two lenses of focal lengths 10cm and -20 ¢cm are held in contact. The image of an object placed at infinity will
be formed by the combination at o (A

10330 3R 209 PiFw FFE g & oW ¥9F A W | Ied W W@ awg F gfafees
W I gamr e ghem

1.20 cm / 20 Q#T
2.10cm / 10 9#T
3.30 cm / 30 QAT

4 ac

Correct Answer :-

« 20cm / 20 QHT

16) Ten equal resistors which are connected in series across a source dissipate a net power of SO0W. If the same
resistors are connected in parallel across the same source, then the power dissipated will be: /

wF @ #H AU A 3 @ W gfoies, 50w & ae afFd o wa §1 IR awe gk, awe
T F JHI FAWR # N3 9, aF e/ afFa geft
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1. 500W
2. 50kW
3. SkW

4, 5W

Correct Answer :-

« SkW

17) A wire in the form of a circular loop of one turn carrying a current produces a magnetic field ‘B’ at the center
of the coil. If the same wire is looped into a coil of two turns and carries the same current, then the new value of
magnetic field at the center is ./

TF W F NAHR IRT & T H 4R GaORd 0F R, Fsell & Fg W TF TFaohrg &F B 3cqeed HIT
¥ 3 AR F &Y W ATl Fush F wRRT frar ar ¥ 3R 9w aRT R wRA § FE W gaha
&89 FT FAT AT g

1. B/2
2.B
3.2B

4. 4B

Correct Answer :-

« 4B

18) A particle moves with a constant speed ‘v’ along a circular path of radius ‘r’ and covers the circular path in
time ‘T’. The acceleration of the particle is: /

TH FUT BT ' I MNASER 99 R T @99 9 v’ ¥ afadAT € 30 'T'J87g & e 99 &7 99
FIAT &1 FIT FT c&0T &

(2mv?)

T

(2mwv)
2, T

(2mr?)
T

(2mr)
s T

Correct Answer :-

19) Refractive index of a transparent material is: /
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T IR AT FT 3Uac:

1. Same for all colors / T T@IT & forw FAT I gl

2. Minimum for violet color / S9T=ir W & fow A g gl
3. Maximum for red color / @Tel T & fow 3ifwan gar gl

4, Maximum for violet color / S3T=iT 3T & T JHaA ?EFIT %I

Correct Answer :-

« Maximum for violet color / S9=0 BT & foIT 3if&&waH aar &1

20) Which of the following material has the maximum Young’s modulus: /
frafaf@a & @ Fa-@t avg F1 ftwaw Jor AF g &

1. Copper / el

2. Steel / el

3. Wood / oISt

4, Rubber / I&§T

Correct Answer :-

« Steel / el

21) Which of the following statements is CORRECT regarding a simple harmonic motion? /
Frafaf@a § ¥ FI9-91 FI97 0F WA ANGd Aq F GaU H GE §?

1. Acceleration is maximum at equilibrium position. /

FEIEEAT X 0T TSI &iam gl

2. The potential energy is maximum at the mean position. /

HET 39T W AT 3T 31feaa giar 2l

3. The force acting on the particle is maximum at the extreme position. /

FUT W HRRT g TH 3GEAT W Ahad giar gl

4. The kinetic energy is minimum at the mean position. /
ALY 3GEAT T ATl Foll #gAdH gl 5l
Correct Answer :-

« The force acting on the particle is maximum at the extreme position. /

FUT W SRR g IRA JGEAT W JHaA g ar gl

22) A black body at a temperature TK radiates heat at a rate ‘E’ per second.If that black body is cooled to (T/V2)
K, then the rate of heat radiation per second at this new temperature is: /

YA TK W TF HIeT @a, 9fd §&s 'E' 1 X7 ¥ FSAT #1 {AHE0T F3ar §1 3R 39 Sk @AE Fi
(T/ V2)K aF 33T [T 91T 8, a9 59 a0 9o 9 9 93 a1 [Rfdor a7 &

1.E2
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2.E/16
3. E/6
4. E/4

Correct Answer :-

« E/4

23) Molar specific heat at constant volume for a non linear triatomic gas is: /

T AT B A & v R smraa W AR fAitese swar gid &
1.3R
2.4R
3.R

4. 2R

Correct Answer :-

24) The half-life of Astatin?!5 (At215) is 100 micro seconds.The time taken for the radioactivity of a sample of
At215 1o decay to 1/16™ of its initial value is N

trerfes2ls (A1) 1 Ty I 100 ASH FFs §1 ALY & Fam i WAufiar &1 9% WA g7 F
17161 & &77 @ & T = g\ g

1. 40 microseconds / 40 HTSHI Ths
2. 300 microseconds / 300 HISshI Ths
3. 6.3 microseconds / 6.3 msﬁ Ths

4. 400 microseconds / 400 FTSHT THS

Correct Answer :-

« 400 microseconds / 400 FI'IE'EI# s

25) The diameter of the given brass rod is 2 mm.Young’s modulus of brass is 9 x 10° N/m2.The force required to
stretch 0.2% of its length is .

& 7 figer A S FT AT 2 A & T FT T AGF 9 x 10° N/m? T SHET F9E FY 0.2% IF
o=t & T 3maeTs I &

1. 36N
2. 36nN
3. 18N
4. 18N

Correct Answer :-

e 18nN
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26) The escape velocity for an iron ball of mass 10g from the earth is 11.2 km/s Neglecting the air resistances, the
escape velocity for an iron ball of mass 10 kg from earth will be: /

t[za%#wmamm:raﬁhmgﬁammawuzﬁmﬁnﬁ?%la@wﬁﬂﬁﬁ#sﬁmmﬁg@,
gedt @ 100 fralame geaenme & ofe diT & T g o ghm:

1. 11.2 km/s

2. 0.056 km/s
3.0.0112 km/s
4.0.00112 km/s

Correct Answer :-

« 11.2 km/s

27) The sum of the magnitudes of two unequal vectors at a point is 18. Magnitude of their resultant is 12. If the
resultant is at 90° to smaller vector, then their magnitudes are: /

& g W &Y sraeer wigal & aR@Amon w1 aher 18 g1 3w aRomer w1 aR@Awr 12 71 i aReme s
wfeer & 90 Bl wX &, at 3o afRemor

1.15and3 / 15 TF 3
2.12and 6 / 12 U9 6
3.10and8 / 10 Uq 8
4.13and5 / 13 Td 5

Correct Answer :-

« 13and5/ 13 W 5

28) The induced e.m.f. produced in a coil placed in a magnetic field depends on the .
TF IR & A W v Fuell H sevewr IRa SoATw W AR e gl

1. rate of change of magnetic flux linked with the coil / iw_s'?»ﬁ' q %’3 W gatg & qRade $r &
2. magnetic field / ﬂﬁﬁ'ﬂ' av

3. thickness of the coil / #HSell ST HICTS

4. area of the coil / i@?ﬁ' H §Tahel

Correct Answer :-

« rate of change of magnetic flux linked with the coil / 3’73@' a GJ’? ?:I:q'@tr JaIg & IRAde $r &3

29) The nuclei 6C13 and 7N14 can be described as J
AfAF CL3 wg 7N Fr F ™ # aftta fFar a1 aar 21

1. isobars / THATRSD (TSANER)
2. isotopes of nitrogen / ABTISTeT & AT
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3. isotopes of carbon / &I & FATA AR

4. isotones / HYLI I (ITSHICI)

Correct Answer :-

« isotones / W{:ﬁﬁaﬁ (3TTsHICI)

30) The dimensional formula for the universal gravitational constant is: /
FrEeifE Tecamsor Ui @ Imand 97 e

1. M3 T2

2. ML3T7

3. [ML3 T3]

4. [MLT 2]

Correct Answer :-

31) The dimensional formula for Bulk modulus is: /

A Y ATEIT AN (Fow Alggew) &1 Al ¥ &
1. [ML3T?

2. [ML2TY

3. [ML3T2]

4. [ML T2

Correct Answer :-

« [MLIT?)

32) The orbital speed of a satellite revolving around a planet is independent of the: /
Pt T8 F TRY R TFHT A gre 3UAE H T afa FET T Taay @ §:
1. Distance of the satellite from the centre of the planet / 3§ & 333\' a 344 &r q\ﬂ

2. Distance of the satellite from the surface of the planet / 3§ Fr Tag d 399 G q:?f

3. Mass of the satellite / 3998 & GIHTA
4. Mass of the planet / TG o GeTHTT

Correct Answer :-

« Mass of the satellite / 39U & geIHTT

33) The energy of a hydrogen atom in its ground state is -13.6 eV.The energy of the level corresponding to the
quantum number n =5 is: /
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AT ITEAT H TF FEIST WAL AT FST -13.6 eV &l FACH FEAT n=5 & T T HI FaAl &
1.-2.72 eV
2.-540eV
3.-0.85eV
4.-0.54 eV

Correct Answer :-

e -0.54 ¢V

34) The Biot-Savart law in vector form is: /

gfger ¥ & TR-89¢ &1 I &
L dB=po/Am x I(dlxt) /13

, dB=po/An x Irxdl)/+
, dB=po/4n x Idlx1) /1
, dB=pno/4n x dlIxr) /1

Correct Answer :-

_dB=po/dn x I(dlxn)/r

35) The radius of gyration of a uniform disc about an axis passing through the center and perpendicular to its
plane is k. Then its radius of gyration about a tangent parallel to diameter is: /

HUAt Fee & dad AR FF F ATCIA & ST ToRaA arell HAT W TH WA 3FF f aRe#r B k
2l 99 I F ARG T9F @1 Hr aRleHT B §

1. V(5/2)k
2.N(2/5) k
3. 52k
4.2/5k

Correct Answer :-

« V(5/2)k

36) An object is placed 10 cm in front of a convex mirror of focal length Scm ,The image formed is: /
TF aFqg 5 WAl I Blewer daTS aTel Iead quuT & WHer 10 {AT g @ S ¥, AT of el
1. Real, erect and diminished / arEdiaes, @l 3R g

2. Virtual, inverted and enlarged / 3T, 3e¢r 3R FfATRT

3. Virtual, inverted and diminished / 3T$TEY, 3e¢r 3R IR

4, Virtual, erect and diminished / T8I, ENEfr 3R g1fa
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Correct Answer :-

« Virtual, erect and diminished / 3THTEY, Irefr 3R &1 @a

37) A radioactive substance has a half life of five months. 75% of the substance will decay in: /

e MBAefFed gared 1 3g I uiw A o1 Gard #T 75% &1 g
1. Fifteen months / 9egg #FgleT &

2. Four months / IR #gleT &

3. Five months / 9T #glel

4. Ten months / G Hglel H

Correct Answer :-

« Ten months / & gl &

38) A radioactive nucleus may emit: /
e AT A1fATF Scaoie FX aHaT 8
All e, B and 7 simultaneously /

| TH WY x, BHR =T

either o< or B or 7 at a time but not simultaneously /
Tk WAT H AT @ o« AT BAT v ifeheT T AT &0

1

2

Only o« and B simultaneously /

;. T WY Fad o« 3T B

Only B and v simultaneously /
,, T WY Haer BT ¢

Correct Answer :-

either & or B or 7 at a time but not simultaneously /

Tk §HT H AT A o AT BT y ofehet Th AT AT

39) A rectangular frame of area 10m? is placed in a uniform electric field of 20Vm'1, with normal drawn on the
surface of the frame making 60° angle with the direction of the field. The electric flux through the rectangular
frame is: /

10wﬁ2$mmwmﬂm2wm'laﬁwmﬁz‘gﬁm#mm&mﬁm
W AT T Geaa R 8T A A & a9 60° F1 FI0T G ¥l ARAARR BH FACTT § T
aren Riege arE &

1. 100V3Vm
2.100Vm
3.200Vm

4. 50N3Vm
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Correct Answer :-

+ 100Vm

40) If an AC ammeter is rated 230V, 12A, then the respective effective values of potential difference and current
of the ammeter are: /

I T THY THET F 230V, 12 A e FAT T aF vHleT & Qeaar 3 arr F gefta e A §:
1. 230\2V & 12\2A
2.230\V2V & 12A

3.230V & 12A

230 12
TVE

A

Correct Answer :-

o 230V & 12A

41) If a body is acted upon by a constant force, then it will have a uniform .
TF AP W F BOaT 0 & &1 ¢, d 30H A= @l

1. momentum / HAIT

2. speed / dTel

3. acceleration / cd30T

4. velocity / ddT

Correct Answer :-

« acceleration / cdXUl

42) Light of which of colour produces wider diffraction pattern? /
g 1 &1 verer e 98 Rade gfawa #1 3cuee wwar 87
1. Yellow / drelr

2. Blue / srem

3. Green / &I

4.Red / &TeT

Correct Answer :-

« Red / ®fTel

43) The dimension of Planck’s constant is equal to that of L
v fAgaie #1 e ¥ ST B
1. angular momentum / IO FAT
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2. energy / Sl
3. momentum / HA3IT
4. power | UTFd

Correct Answer :-

« angular momentum / HIoT FaaT

44) A vehicle is moving with a speed of 18 km/h. How much distance does it cover in one second? /

T aree 18 frsfi/der & @ & 3 9¢ W §1 UF s # I8 el gt (A 7) a7 s
1. 18m

2. 1.8m

3.0.5m

4. 5m

Correct Answer :-

45) An 8 meter wire kept in east-west direction is falling with velocity 4 m/s perpendicular to the field 0.3 x 10~

4Wb/m? The induced emf across the wire will be: /

8 HIeX & TH ar ' qE-afaw Rar F @ F 4 AF F 37 F AT 0.3 x 10*Wb/m? F daad PRww
STer 31 a” & IRa SvHE gem

1.9.6 mV
2.0.96 mV
3.096V

4. 0.096 mV

Correct Answer :-

+ 0.96 mV

46) The electrostatic potential energy of two point charges, 1uC each, placed 1m apart in air is: /

ar fig amaelt i Ruxdgfodh Rufasr =t Far geft, SefF g% W amaer 1uc B, ik & & gar &
T gE @ 1H A gt W

1.9x 10°]
2.9x 103V
3.9x1073]
4.9x10%]

Correct Answer :-

. 9x1073J



47) Fornitrogen gas Cp—Cv="a" and for oxygen gas Cp— Cv= "b’the relation between “a’ and b’
is given by: /
GIEFEG! AT Cp— Cv="2" 3R 3fadarsT 39 Ce-Cv="b" & TorT, 2 3R v & d=
T Faer et e@nr fgar =i &:

l.a=b/2

2.a=b

3.a=7b

4.b=7a

Correct Answer :-
« a=b

48) Two point charges of +6uC and +4uC repel each other with a force of 10N. Ifa charge of -6uC

is added to each of these charges, then the force will be: /
ar fag 3maer +6uC 3R +4uC THgEY @ 10N & o & Aol wa §1 afg 5=
mael F & 9@ 7 -6uC 3TAeT HAIST AT &, ar g g

1. 15N

2. 10N

3. Zero / I

4. 5N

Correct Answer :-

o Zero /| AT
N

49) A coil having N turns and resistance RQ is connected in series with a galvanometer of resistance
5RQ. This combination is moved for a time “t’ seconds from a magnetic flux ®1Weber to ®2
Weber. The induced cwrrent in the circuit is: /

Teh FEen foree N Y 3R JicRrT R QF, TR SR Q& dedwieie] & arer vl 7
I3 §5 81 U5 WA Ueh Graehiar HAE o1 FRA 92 R da GHT v qehS' &
ToIT TaATag &FT ST o1 oRgy & ORg anr &

NP1 - P2)
1. Rt

&1 - P2

2. 6Rt

N{(®1 -&2)
3. 6Rt

(@1 - §2)
4, RNt

Correct Answer :-

N(®1 -®2)
6Rt
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The current in a primary coil of a transformer as shown in the given figure will be: /

& TS ATl A RE@IT 70 U JEEHET FI HUTHG FEer H ONT e

P & s
Vp= 440V V=44V
440 £2
p® ®

1. 10A
2.0.01A
3.0.1A
4. 1A

Correct Answer :-

+ 0.01A

Topic:- Chemistry

1) |dentify the suitable set of reagent/s to convert 1,2-dibromo-1-phenyl ethane into acetophenone /

1,25 AT-1-Rpage 397 F1 WAHAT & dgear & AT yfAwetsw/w F 30FFd G H g RST
1. NaNH, & KMnO4/H*

2. NaNH, & H,0, HgS0,, H,50,

3. KOH (alc.) & H,0, HgS0y, H,50,

4. KOH (alc.) & KMnO,4/H*

Correct Answer :-

] NaNHz & Hzo, HgSO4, stO4

2) Identify an example for thermoplastic from the following. /
fArafaf@a & § amgacy & AT v 3eRr fit ggaE ffaw)
1. Urea-formaldehyde / q\ﬁm—wﬁ%@g@'

2. Bakelite / §helTSC

3. Terylene / eelleT

4. Polyvinyl acetate / ﬁ?ﬁﬁﬂ'l’:’:ﬁ Tdiee

Correct Answer :-

« Polyvinyl acetate / Aiellidalisel THIEE
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3) Identify the compound with the least dipole moment. /

foFeaer gfaya ot ar FifdE H e

| HC=C——CHy,—CH,

, HiC—C==C——CH,

3. HC=C——CH=CH,

H.C CH
Sy S
c—C
! N
4 H H

Correct Answer :-

H.C—C==C—CH,

4) Which among the following statements is INCORRECT regarding the use of petroleum products?/
IATA IcurEl F IUANT F oy A [Aeafaf@a & a sla-ar sy T9q 82
1. Gasoline is used as fuel in motors /
AT F $9T & T H FAeleT H1 39T Far srar gl
2. Ligroin is used as fuel for domestic purposes/
el FAISET & T Sue & & 7 foRiss 1 39Aer fRar S g
3. Kerosene is used as a fuel /
FET T 3T ST & & F AT ST B
4, Petroleum jellies are non-volatile substances used for medicine preparation /

o Sl IR-arsuiier gere & TSeRr 3T gar fr IR F fRaT S B

Correct Answer :-

¢ Gasoline is used as fuel in motors /

ARY F U & T H I@relT 1 YT Far Srar g

5) Which among the following compound has the C-H bond with the lowest bond dissociation enthalpy? /
frfaf@a #& & fFa 4ife # 998 Fa 39y Rges wied (ardia afian) afka C-H smewr §2
1. 2,2,-dimethyl propane / 2,2,- 313@'31@ 9T

2. Benzene / Soflel

3. n-pentane / n-U&eT

4, Toluene / E‘flvzl(\i?l

Correct Answer :-

» Toluene / Efloq\i?l
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Which among the following complexes is not found naturally in the biological systems of plants or animals?/
frafaf@a & @ Fla-@ dger (@Fa), dul a1 gyt f s gonfeat & el w0 @ @@ v aK
2

1. Cyanocobalamin / TATARITTAIT

2. Cisplatin / TaEcalfesT

3. Haemoglobin / graAITallielel

4. Carboxypeptidase / FHeflFEITEIST

Correct Answer :-

« Cisplatin / T@¥cafest

7) Which among the following complexes will have the highest electrical conductivity?[PtCl 4(NH3),],[PtCl3(NH3);]Cl,
[PtCI(NH3)5]Cl3, [Pt{NH3)¢]Cly. /

freafaf@a #& & frw Py (W) & soaas Rega aresar gei2[PCly(NH;), ], [PtCI3(NH3)31C,
[PtCI(NH5)5]Cl3, [Pt(NH3)g]Cly

1. [Pt(NH3)g]Cl,
2. [PtCI(NH3)s]Cl3
3. [PtCl4(NH3)5]
4. [PtCIg(NH3)3]C|

Correct Answer :-

. [Pt(NHa)s]C]4

8) Which one of the following vitamins contains a metal atom? /
Prfafla # & -8 v Rafe # arg e suferd g ¥
1. Riboflavin / RETFeiTdsT

2. Vitamin A / fderf@=r A

3. Vitamin C / [9erfAeT C

4. Vitamin By, / TdcIf@=T B,

Correct Answer :-

« Vitamin By, / TdeIfA=TB,,

9) Which of the following is an example of a true solution? /
e & 3 Fia-ar avafes Rews F1 & eI 82
1. Pumice stone / ‘«‘gﬁﬂ-‘l 92X (STaT 9e2)

2. FruitJelly / Well ST sl

3. Zinc amalgam / TSieh 31HCRT (TS TIFAST)

4. Shoe polish / SIdT giferer

Page - 18



Correct Answer :-

« Zincamalgam / TSI 3HCRTH (IS TIEAH)

10) c-Cl bond of chlorobenzene in comparison to C-Cl bond in methyl chloride is: /

fAuge FeREs & C-Cl ey & g # FaARISSHa HT C-Cl 3T glar &
1. Longer and stronger / & 3iX HAS

2. Longer and weaker / &&T 3R FFAR

3. Shorter and stronger / BIeT 3R Halqd

4. Shorter and weaker / &l 3R HHAAR

Correct Answer :-

« Shorter and stronger / ©leT 3K AT

11) Metal 'M' crystallises in a fcc lattice with an edge length of 5.56A.Calculate the density of the metal if it contains
0.3% Frenkel defect.[Given:molar mass of 'M' 40 g/mol] /

'M' €T, 5.56A FY PR AE IS TH THAN (FaIF Higd °ga) TaF A e g ¢ 41g F gecd
#1 ot AT Il $H 0.3% HFer QAW T [RAT 7197 §: M F AR geqAWT 40/AT)

1.0.77 g cm3
2.048¢g cm3
3.1.55¢ cm3
4.1.00g cm3

Correct Answer :-

12) The water kept in an insulated vessel at -8 °C suddenly freezes, the entropy change of the system: /
-8°C W & fagga-AfRa U & TW@T AT 9TeAt IAAF SIH AT 8, TH YONS HT Tegrdt TR
1. Cannot be predicted / Wﬁﬁ' el fhar ST Fahar gl

2. Increases / §&dT gl

3. Zero / I HESIGIE

4. Decreases / Tl gl

Correct Answer :-

. Zero/?ﬂé’f?ﬂ?ﬂ%l

13) The size (diameter) of dispersed particles in a colloidal solution is: /
TF FrdEs Qoas & gRfeca s #1339 (ca9) e §:

1. More than 1000 nm / 1000 nm ¥ 318
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2.Lessthan 1 nm/ 1 nm ¥ &H
3. Between 1 nm and 100 nm / 1 nm 31X 100 nm < &=

4. Between 1 nm and 1000 nm / 1 nm 3T 1000 nm = &=

Correct Answer :-

« Between 1 nm and 1000 nm / 1 nm 3i¥ 1000 nm & i

14) The organic chloro compound which shows complete stereochemical inversion is: /

FEfAs Far! I St of e @ @REEsHE) gfaeas g &
1. CH5Cl

2. CgHsCl

3. (CyHs),CHCI

4. (CHz)5CCl

Correct Answer :-
« CH3CI
15) Hydroxides of group II alkali metals shows: /
THE 1 a0 uTgEt & emsteass e &
1. Decreasing base strength down the group /
HAE H & S 9T Hedl 8T Yeoldl
2. Increasing base strength down the group /
TAE A AR S W dedl &R Jeeldl
3. Increasing acid strength down the group /
A A AR S W Seddl 3Fel Feerdr
4. Increasing and then decreasing acid strength down the group /
A H &AM S W Ugel deal 3N T Tedr 3 e Jeerdr
Correct Answer :- |
« Increasing base strength down the group /

THE A & S W decdl TR Feeldl

16) When a non volatile solute is dissolved in a volatile solvent, the vapour pressure of the solvent is decreased
because:/

J9 T gl [eae A ve sarmaefia Qe gier Sar €, Y Qe #7199 @ Jan §
Faife:

1. Mole fraction of the solvent becomes less than 1. / f[del e &1 3]13?31'01' AT 1T FHA G AT § |
2. Density of the solution is increased. / faeI¥IeT &I Uedca d¢ ST &l

3. Surface tension of the solution is decreased. / eIl &l IsS delld &H g ST &1
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4. Viscosity of the solution increases. / EREGE IR GRICFRSIG %’I

Correct Answer :-

« Mole fraction of the solvent becomes less than 1. / f[deli e &1 RIEE L AT 1T FAG AT |

17) Alumino thermite process is used for the extraction of metals whose oxides are: /

YAt gTEe afRar 1 39 argst & fswdor & fav B srar @ e sitwwss:
1. Fusible / T @it &1

2. Strongly basic / J&el &R gl &1

3. Not easily reduced by carbon / HIe CIRY R d Fq'\?ﬁ—ctﬂ el 8l gl

4. Not easily reduced by hydrogen / E'.'Iéﬁl\_rl?{ CanT T Fq‘\?ﬁag_cl' TRl 81 &l

Correct Answer :-

« Not easily reduced by carbon / FIeeT AR 3TETdr q Fﬂ(\c‘rﬂﬁg‘d el g gl

18) Identify the transition metal which does not have BCC lattice structure in its crystalline state. /
3 HHAV UG T Tgae Y A freeelr saear § BCC s w9 A @t ¥

1. Cr

2.V

3.Cu

4. Fe

Correct Answer :-

« Cu

19) Identify the o bonded organometallic compound. /
o T FE-ticas FiRF it gga= Hifwl

1. Wilkinson’s catalyst / faTeehde 3cUeh

2. Ferrocene / gl

3. Tetraethyl lead / ¢gTOfyer oI

4. Metal carbonyl / €T Fraifarer

Correct Answer :-

« Tetraethyl lead / SO o8

20) What is the half life of the isotope whose % disintegration time is 2 hours? /
wHEAAS @ ey Far § forwer v Rue woag 29¢ 32
1. 1 hour / 1 €T

2.2 hours / 2 €&
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3.3 hours /3 €©¢
4. 4 hours / 4 &

Correct Answer :-

« 1hour/1der

21) What is the important factor which accounts for Metal-Metal bonding in compounds of the second and third
series of transition metals? /

qF Agcaqul FRE FIAT § S WHAUT Ut A qudt v Al ywer & AfAw & arg-arg rawT F1
HROT giell &2

1. Increase in atomic radius on going down the groups. /
gt # A I R aw] e # 3R
2. Increase in density of these metals. /
3ol UT3it & "eled A I
3. Stability of higher oxidation states of these heavier metals. /
goT TR UTI3i T ST JHTeriehtoT ATl i U]
4. Greater enthalpies of atomization of these metals. /
goT ST & IRATILRIOT T fhcrs i erRar|
Correct Answer :-

« Greater enthalpies of atomization of these metals. /

goT T3 o IRATILEROT T 3iftehcd A enRard|

22) What is the energy of the first stationary state of a Li2" ion if the value of k=2I1?me%/ h?=2.18x10718J

atom™1? /

Li%* 3maer &1 gaer R 3raedm #1 Fol 747 § IR k F1 A= 212me?/ h? = 2.18x 10718 J wamop 1 @2
1.+2.42x107 Jatom™ / +2.42x10719J WI'UI_I

2.-0.242x 10718 J atom™ / -0.242 x 10718 J o7 7

3.-19.62x107!8 Jatom™ / -19.62 x107!8 J wRaATO]

4.-1.09x107'8 Jatom™! / -1.09 x 10718 J FTOT 1

Correct Answer :-

« -19.62x10718 Jatom™ / -19.62 x107!8 J qzaATOT 71

23) What percentage of space is occupied in a two-dimensional square close packing and hexagonal close packing
respectively? /

waerfa-fRea o s aga 3k vely Afds g5 & fras gfawa e adia ar @2

1. 52.4% and 60.4% / 52.4% 3T 60.4%
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2. 60.4% and 52.4% / 60.4% 3 52.4%
3. 74% in each case / Ueh &Afad & 74%
4. 68% and 42% | 68% 3T 42%

Correct Answer :-

e 52.4% and 60.4% / 52.4% 31T 60.4%

24) Butter is a colloidal solution formed when: /

AT TF HIABST o & S d9 9IaT § I

1. Fat globules are dispersed in water / G TR Tl A IRETAT gl 81
2. Fat globules are dispersed in air / GT Tl gaT # IR&INT gidr gl

3. Water is dispersed in protein / STel Iiclel & IR&IWT 8T g1

4. Water is dispersed in fat / 3o g@T H IR&IAT gar gl

Correct Answer :-

« Water is dispersed in fat / 3ol g@r & gRe&ifaa giar g1

25) Radium combines with chlorine to form radium chloride. The radioactivity of chloride so formed will: /

IRTH FaREE o9 F AT RBaw, Fa0aT F g FAfEa gar 81 AT IBRaT Fares &
TEiFgar gei:

1. Reduce by 1/3/1/3 & ge Sl

2. Remain the same as radium / I2IJH & AT @?ﬁ'
3. No longer be radioactive / IBTrafRT SET Wl
4. Increase by three times / el 9T d% §6 SRR

Correct Answer :-

« Remain the same as radium / If3TH & AT G

26) Metallic property increases down the group, as a result the J

W#mﬁmgmwm%,ﬁwqﬁvm

1. electropositive character increases down the group / HHg H A/ S §U ﬁ'c'\}g?[ HeATcHS SI&T0T 6l gl

2. atomic number increases down the group / HHg # dA S §'Q' qIAT] T&T Sl gl
3. density decreases down the group / HHg H & ST gU Helcd gedr gl
4. valence electrons remain the same down the group / g H =T S 'g“(f TS sﬂa@”?r AT B gl

Correct Answer :-

« electropositive character increases down the group / HHg H & S gv ﬁa}g?[ ¢eITcHS I&T0T o gl

27) In group 1 alkali metals, the strongest reducing agent is: /

THE 18T 4T3 #, 9ed vad =l FAE o
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1. Na
2. Li
3.Rb
4. K

Correct Answer :-

« Li

28) Which polymer is used as a substitute for Wool to make blankets? /

el ST 8 I $ YA F T H fhH qgers F1 3qAT A S g2
1. Orlon / 3iRelisT

2. Nylon 6, 6 / FARIclleT 6,6

3. Caprolactam / ShUTeleea

4. Glyptal / TFercee

Correct Answer :-

« Orlon / 3Rl

29) Which one of the following Quantum numbers is not obtained from the solution of the Schrodinger’s wave
equation? /

fArfaf@d # & Hla-d Faven FEar MER T FHHOT F Ao § aod T8 §E 82
1. Azimuthal quantum number / (’GﬁH\W FarcH GEAT

2. Spin quantum number / THUT FalcH T&AT

3. Principal quantum number / ﬁ@ﬁﬁ?ﬂ' &

4. Magnetic quantum number / W FaleH JE&AT

Correct Answer :-

« Spin quantum number / ThUT FATeH HEAT

30) Which one of the following molecules has intramolecular hydrogen bond? /
freafaf@a & & fr v 307 F T30 TSI T ghar g2

1. 4- Hydroxybenzoic acid / 4- Fﬁs\wﬁﬁﬂﬁ 3FeT

2. 2 — Nitrobenzoic acid / 2 —sII8cIailgedh 37T

3. Benzoic acid / Soilge 3% ol

4. 2- Chlorobenzoic acid / 2- FelRIdoigd 3Fdl

Correct Answer :-

« 2—Nitrobenzoic acid / 2 - AT3¢IsolIgHh 3Fal
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31) Which one of the following is an example of acidic flux? /

PEfaf@a & ¥ Fia-91 vF 3FT yae (CRRE Foad) 1 UF 36T 82
1. Cl,03+ CaO

2. C1,O4

3. Si0,

4. COy

Correct Answer :-

. Si0,

32) Which one of the following is NOT a transition metal? /
el & & Sla-d v dweaor uig a1 82

1. Cr

2.Cu

3.Cd

4. Ni

Correct Answer :-

33) Which one of the following statements is true with regard to denaturation of proteins? /
W & Rgdarer § gau # i@ & ¥ Sla-ar sy 9 87
1. Denaturation of proteins is due to rearrangement of primary and tertiary structures of proteins. /
SN i R, S & SrafiE 3R qdas Graest ¥ gecdawar & FRoT g B
2. Denatured protein retains its biological activity. /
Ry ST 31 S AR # WK T B
3. It results from a rearrangement of the secondary and tertiary structures of proteins. /
Ig N i gfacias AR Gl a3 H gaedarar & aRuTATTET g Bl
4. The chemical composition of the protein is altered by denaturation. /

WENT ' TN T RAgcdienor ganT ager & el B

Correct Answer :-

« It results from a rearrangement of the secondary and tertiary structures of proteins. /

g W & gfdcias 3R g A3 B AedaTdr & IRUTAEIERT gl g

34) Which one of the following radioisotopes is used in treatment of blood cancer? /

R@T # O sl9-8 s [{fEor gaea@s F7 W@ @ d $97 F 39R & &5 S §2

1. Na-24
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2.1-131
3.P-32
4. Co -62

Correct Answer :-

« P-32

35) The heat required to raise the temperature of 1g of a substance by 1 K is known as: /
13T 9T T dI9ATT 1 K 98 & AT 39eqs FSAT Sgardl ¢

1. Specific heat / Taf2rse Fwar

2. Enthalpy / EI;U‘[ AT (Tede)

3. Thermal capacity / aT9R=I €TRET

4. Latent heat / 3[cd ZSAT

Correct Answer :-

« Specific heat / Taf2se FwAT

36) The oxide which is not reduced by hydrogen. /

Ig 3FATES S FBE gaRT YA AL BT §:
1.K,0

2.P,010

3. Fey04

4. Ag,O

Correct Answer :-

.« K,0

37) The exact stage at which the neutralization in the acid base titration is just complete is: /

a8 U IHETYT O W I &TRF IgATer (VA 97 erseere) & sgriieior S qot g S &
1. Equivalence point / JeddT ﬁg

2. Titration point / 3eJHTqsT ﬁg

3. Inversion point / FicTeliHeTIh ﬁ?;

4. Neutralization point / 3GTEIATRIOT 'l%'g

Correct Answer :-

« Equivalence point / Jeddr ﬁ?‘;’

38) The shapes in which a long polypeptide chain of a protein molecule exist are: /

q R e W& 307 Fr v ol dielicess s 3ufPyd g @
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1. o — helix, y —pleated sheet / o — geleFd, y —Telcs T
2. a— helix, p—pleated sheet / o —gfolFd, p-teics i
3.y — helix, B—pleated sheet / y—glolerd, p—Teics i
4. p—helix, o —pleated sheet / p — gfoldd, o —Telcs T

Correct Answer :-

« o—helix, B—pleated sheet / o —gfelard, p—Celcs ¢fic

39) The heat absorbed at constant volume is equal to the: /

T smaas W e FeAT sEF e gl &

1. Change in internal energy of the system / T &I 3aRe® Foll # gRadA
2. Change in entropy of the system / @& #r vegrdt & gRade

3. Change in enthalpy of the system / foiehrar T t{\U‘f AT (Tededl) & gRader

4. Free energy of the system / o &r Had Soll

Correct Answer :-

« Change in internal energy of the system / f¥erar &Y 31aRes Fair & aRader

40) The color of phenolphthalein in base is: /
&R # RraTawdellsT &1 39T gar &

1. Pink / IelTelt

2. Colorless / WTgIT

3. Red / elTeT
4. Orange / A3

Correct Answer :-

41) The mass of copper deposited from a solution of CuSOy4 by passage of 5 A for 965 seconds is:/

9658%sT & fAT 5 A F TIRA g § CuSO4 & e ¥ RART did &1 gega7= &

1. 1.5875¢g
2. 15.875¢g
3. 96500g

4. 4825g

Correct Answer :-
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A reaction is second order with respect to reactants. How is the rate of reaction affected if the concentration of the
reactant is reduced to half?/

FAFRF & F@a A F JATA gfadir Ffe §1 I 3ffFRs At digar ameft 73 & se @ e
#1 g7 HE wenfaa gt 82

1. Decreased by 1/4K / 1/4K &% €< el gl
2. Decreased by 1/2K / 12K d& €€ ST &
3. Increased by 1/4K / 1/4K deh & ST g1
4, Increased by 1/2K / 12K dh d¢ IGI %I

Correct Answer :-

« Decreased by 1/4K / 1/4K T €T STcr gl

43) The IUPAC name of the following compound is /

fore Gifdies FTIUPAC ATH &

™~
N

1. 1,1,4-trimethylcyclohex-3-ene / 1,1,4-@%&@?33@%@-3- é'»?f
2. 1,4,4-trimethylcyclohex-2-ene / 1,4,4- CTEfAUSAESFlgFT-2- ST
3. 1,4,4-trimethylcyclohex-1-ene / 1,4,4-CSTHUSASFIgFH-1-37

4.2,5,5-trimethylcyclohex-2-ene / 2,5,5- eSS adSFledFd-2- SoT

Correct Answer :-

« 1,4,4-trimethylcyclohex-1-ene / 1,4,4-C3fAATSoSFaledd-1-8e7

44) The IUPAC name of the given compound is
fadr e’y 4ifdter @r IUPAC oTTH Bl
CH-0H

|
CH;3;-CH-CH-CH-CH>-CH»-CH3;

l I
CH; CH:Br

1. 3-Bromomethyl-2-isopropylhexan-1-ol. /

3-SR A-2- 3N TSI =T 1-31TeT

2. 4-Bromomethyl-3-hydroxymethyl-2-methylpentane. /

4-SAHTEET-3- FregirRfATEe-2-Fregetea
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3. 4-Bromo-2-isopropyl-3-propylbutan-1-ol. /

4-SIA-2- TS A of-3-HITS Teg &ol- 1-31Tel

4. 4-Hydroxy-2-isopropyl-3-propyl-1-bromobutane. /
4-BISZIFET-2- TSI o3-S el- 1 -5 A e

Correct Answer :-

+ 3-Bromomethyl-2-isopropylhexan-1-ol. /

3-SR AURA-2- TSNS T 1-31TeT

45) Forthe reaction A= B, the concentration of a reactant changes from 0.04 M to 0.03M in 25
minutes.Calculate the average rate in seconds. /

ATATRAT A2 B & ToIv, U 3f8@Re & Iigar 25 &@dc & 0.04 MF 0.03M d&
gcel STar 81 ¥hs #F 3 & & auTEr wY)

1.6.7x 100 Ms™!
2.8.7x 100 Ms!
3.7.7x 100 Ms’!
4.9.7x 100 Ms’!

Correct Answer :-

¢ 6.7x 100 Ms™!

46) Match the molecule in column | with the shape given in column II.

No. | Column| | No. | Columnll

P. ClFs a. | Vshaped.

Q. | XeFs b. | Square pyramidal
R. | SOz c. | Tshaped.

S. | BrFs d. | Square planar.

aﬁ'aﬂla?ﬁvgaﬁmnﬁﬁnmmasmrgﬁﬁadﬁﬁml

&L, | FieH | | 9. | el
P. CIF; a. V ATHRR
Q. XeFs | b. ot R’
R. 502 C. TR
s. BrFs d. T gHTT

1.P-b,Q-c,R-d,S5-a
2.P-c,Q-d,R—-3a,5-b
3.P-d,Q-b,R—3,S-c
4.P-d,Q-c,R—-b,S-a

Correct Answer :-
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¢« P-c,Q-d,R—3a,5-b

47) The solubility product of AgzS is 32 X 10751 at 25 °C.The solubility of silver sulphide in water at
25°Cis: /

Ag2S ST TAeRIAT 0T 25 °C W 32X 10752 §125°C W oFel # ek Hewhiss &l
Tererarar grein:

1 1.8 x107%

5 4X107

3. 2x107Y

-17
4, 8X10

Correct Answer :-

,_.
o
Racllus/nm

13

1 1 1 1 1 1 1 1 12
— S Ti V Cr Mn Fe Co Ni Cu Zn

- Y Zr Nb Mo Tc Ru RhPd Ag Cd 3d
""" La Hf Ta W Re Os Ir 't Au Hg

ad

The graph shows irregular trend in atomic radii of 4d and 5d series. This is due to: /

I, 4d 3R 5d Af@ensit &1 wAV] BB safafEa yafca aifar g1 o sa
FROT F §

1. Variation in nuclear charge and shielding effect of d and f electrons /

d 3R f Sl & ARG LT 3R aRReTor worg & aRadsT
2. Decrease in metallic property /
tfcash 0T & HAT
3. Increase in atomic number /
RATY] TEAT H gig
4. Increase in atomic volume /
URAT] 3T H i
Correct Answer :-

« Variation in nuclear charge and shielding effect of d and f electrons /

d 3R f Soeial & AMHRRT AT 3R aReTor wore & aRadsT



49) The temperature at which Kz and K- will be equal at equilibrium for the following reaction is:

aa 59 ) Gafaf@g 3wt & fOv K30 Ke argeser 93 aXEy g

PCl.(g) — PCl;(g) + Cl,(g)
1.12.18 K
2.1°C
3. 0K
4.0°C

Correct Answer :-

« 12.18K

50) These trends in the melting point of transition metals is due to: /

AU AIg31T & Ielelich # A Udicddl foleT & HROT Bl &

2

M.p./10'K

Atomic number  — 5

1. Lanthanide contraction / oi2=188 3-11%_1-!?{

2. Variation in the strength of metallic bond / efeaeh 36 & Yfded & IRade a1 faewor
3. Variation in their ionization energies / 3sTehl 3TIAIRIOT For3tt 7 aRader ar faaror

4, Variation in atomic radius / AT Bear & 9Rade ar fawror

Correct Answer :-

« Variation in the strength of metallic bond / tfcaes ey & Yladd # IRaded ar fa=ror

Topic:- Biology

1) BCG is the vaccine for: /

difisht ArT & Qv v ddla §:
1. Leprosy/f@ T
2. Polio/ Siforat
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3. Measles / @I
4. Tuberculosis / T&HT

Correct Answer :-

o Tuberculosis / I&HAT

2) Which one of the following diseases is caused by allergic reaction? /

fArafaf@a & & Fia-ar ve Qorvesit A gfafdar F FRor gar @2
1. T8/ &&r

2. Influenza / SeTFolUeall

3. Bronchitis / REeATATY

4. Asthma / T

Correct Answer :-

« Asthma/ GHT

3) Which of the following is NOT a feature of cancer cells? /
frafaf@e & & Fia-dt F FifEEt & oa Qv a8 82
1. Under the control of oncogenes / 3ieleilel & [&=or & grar gl
2. Show contact inhibition / TEIY TEHT (T9a faer) few@rdr gl
3. Undergo metastasis / AT AT T W gl

4. Divide in excess / 3If&&ar & Fanfara gidr &1

Correct Answer :-

« Show contact inhibition / TEIeT HeHeT (Hus ver) @ &1

4) Which of the following is originated from the primitive photobionts? /
farafaf@a # & Fla-a1 s wreRle & scue garm §?

1. Primitive prokaryotes / 3T{¢H UTeehgen!

2. Advanced eukaryotes / 3eold W )q\é%ﬁ‘a’lt(

3. Mesokaryotes / TRARRIAE

4. Primitive eukaryotes / 3nfes gieas (FHRANE)

Correct Answer :-

« Primitive prokaryotes / 3TEH UTerehgent

5) Which of the following is INCORRECT about primitive atmosphere? /
AT & ¥ 3Re ardor & s & w9 @ 3weT 82
1. Free oxygen absent / Tad ¥ iTaraTetel 3-1?-}[@21?[ giar arm|
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2. Free hydrogen present / T &83Iotel 'Fﬁa:q' giar Tl

3. Cooling resulted in the emission of CO,, water vapour, methane and ammonia /
Qﬁama:qﬁvmﬁcoz,aﬂmw,ﬁﬁaaﬂrmmmmgam
4. Low temperature due to cooling / 2ficTels & &RUT S YA giaT ATl

Correct Answer :-

« Low temperature due to cooling / ¢ffdele & HRUT HH dIHT BT AT

6) Which of the following does NOT follow the central dogma of molecular biology? /
fPrafaf@a & ¥ Fla-w e Shafee & 7 Rgia &1 segawor a8 Fwar 32
1. Fungi/ shd<h

2. Bacteria / EﬁE'I'U:_I;

3. Protozoa / SYEIN3T

4. HIV/ TT3msdr
Correct Answer :-

« HIV/ TI3msdY

7) Which germ layer forms the muscles? /
FlA-H ST AR (T ) IRAT TR 32
1. Endoderm / 3ic¥caar (UsISH)

2. Ectoderm / STedcal (VFeisH)

3. Mesoderm / FEISTT X (HESH)

4. Periderm / Rca® ()

Correct Answer :- |

e Mesoderm / HEIAAT T (ﬂ?ﬂ?ﬁ)

8) The first organism on primitive earth was: /
AR gt W g S

1. Heterotrophs / SXaIT¥d

2. Autotrophs / TaGIST

3. Chemoautotrophs / TEREGITET

4. Chemoheterotrophs / TEXAI™YT

Correct Answer :-

« Chemoheterotrophs / TR

9) Blubber of whales contains connective tissue. /
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Sgal ST T&l A IS Fad d@se g ¢l
1. pigmented / JoTferar

2. adipose / IHTIed

3. mucous / 2oTSHA

4. reticular / STTfelenT

Correct Answer :-

- adipose / ELIECT]

10) Ssome enveloped viruses have glycoprotein spikes. What is its purpose? /

Fo IR gu Rt # assida woes @ §1 sae 37 791 §2

1. Binding with the cell membrane of host / BT FT AIfAr @W‘fﬂ' & G ST
2. For protection / EX&OT & ToIT

3. To produce anti-enzymes / W-UGITB'HT F FAFT T F T

4. To attack the host cell / BITC T T HT FAT

Correct Answer :-

« Binding with the cell membrane of host / BT Hr AT i?vél & FTY T

11) Protein synthesis occurs in: /
NET TN AFT F g §:
1. Golgi body / eal &I

2. Mitochondria / FepToTehT

3. Cytoplasm / ShifRIhrged

4. Nucleus / #ATf#®

Correct Answer :-

« Cytoplasm / HifQIged

12) Name the vector in ‘break bone' disease. /

‘9% ST AT §38 di5' AN #A 9ed FT AT Fq1e|
1. Aedes mosquito /TSl HTBT

2. Tsetse fly / T8 HdT

3.Sand fly / ¥d #AF@r

4, House fly / EI'QT{\ HFEY

Correct Answer :-

« Aedes mosquito /T3IsT HFTBI



13) is involved in allergic and inflammatory reactions. It also dilates capillaries. /
wosi-gatl AR goer-watdt AfAfFaEt & affa gar 81 a7 SRt f Reaia dft wxar g
1. Serotonin / AXeifeleT
2. Histamine / TgTeTfdeT
3. Blood serum / 38X AR
4. Lymph / oTEIRT

Correct Answer :-

« Histamine / fgEerf®aT

14) The first prosimian primates arose from: /

ToH NIRRT TR I (AEfATE asAe) e @ 3cue g
1. Frugivorous monkeys / Bel$T&il G

2. Apes / T

3. Tree shrew like insectivores / HIcHalT S Clal HA®

4. Arboreal mammals / q&ﬂﬂ' FTEIRY

Correct Answer :-

« Tree shrew like insectivores / Shrcatell ST gat AA®

15) Platyrrhini are also known as: /

wAfeRs (Rifteaman) it @ amr § it S siar &
1. New world monkeys / 7S @'&T % deX

2. Apes /i

3. Old world monkeys / EI’Tl?ﬂ' ES%’ZIT & deX

4. Man / AT

Correct Answer :-

« New world monkeys / 1S §ﬁ|'€lT & g6l

16) The most probable reason for the absence of regular menstruation in a fertile female is: /
T yoeaT ARer F Pafr afte @t & seefrufy #1 aew @l snor
1. Imbalance in hormone / g/ # 31?@'&7-[

2. Cancer / &

3. It can happen at any time / I8 T o & TepaT &

4. Fertilised ovum / fo¥fRa 5«

Correct Answer :-

« Fertilised ovum / fT3Ra B«
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17) The most natural method of birth control is: /
wafa-Fawe (a8 Few) i ged wefas & &
1. Hormone method / gTHT 3fer

2. Rhythm method / o/ fafer

3. Barrier method / f&reRr fafer

4. Abstinence / QTZFFI'

Correct Answer :-

« Abstinence /| IIH

18) Name the tough collagenous, fibrous, outer layer of the brain, inserted in the periosteum of cranium. /

Furel ($faaer) #r aiege (IREET) 7 sl 75 397G Feloerw, WeR, ARTE #T Tl Wa F1 a7
Fame]

1. Greymater / JHT

2. Duramater / SEHIE(GyGclTTotehT)

3. Arachnoid / WX&FISS (S[cTToTTeITH)

4. Piamater / QI$ITHCT (FcTlsiehn)

Correct Answer :-

o Duramater/ sq:\rnﬂ’m(ata?rm)

19) Which of the following organs have the power of regeneration? /
Rrfafla & & Reer 3ot o qorotersr &1 aferer a2

1. Kidney / JeFeh

2. Liver / Ispd

3. Lungs / hReT

4. Brain / ATEASH

Correct Answer :-

. Liver/aag_cf

20) Which of the following is the most important advantage of a Sacred groove? /

fArafaf@a & ¥ Fia-u1 & 9fag 3uasr (%3 q9) FT T9@ Ageaqur o 82

1. It holds water in soil. / I8 fAEY & Ul T g T@ar gl

2. It improves soil quality. / Ig TAET T Ut T Ca) FURAT gl

3. It conserves rare and threatened species. / g ??S-T IR ﬁwqwﬁu’r FI TFETT T ¢l

4. It gives environment awareness. / Jg TITEIUT SRRk Sl gl
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Correct Answer :-

« It conserves rare and threatened species. / Ig ?‘»‘fﬂ IR ﬁwmﬁﬁ FT GIUAT FAT %I

21) Which of the following shows the correct order of the layers that cover kidney from outside to inside? /
fAfaf@a # @ Fla-ar wal & 7@ F7 qUiar 5, A gFF F ST F AW aF owal 87

1. Renal capsule, adipose layer, renal fascia / &h W, qil Wd, 9 Tug

2. Adipose layer, renal fascia, renal capsule / 98T U{d, EEED TuE, EEED vaa“oi

3. Adipose layer renal capsule, renal fascia / 9T 9d, deh é‘ra%j\ﬂ, EEED {-i‘-ig
4. Renal fascia, adipose layer, renal capsule/ajl—? HUE, 98T 9, g QECQ\F—[

Correct Answer :-

« Renal fascia, adipose layer, renal capsule/acw H9g, 99T 9, g w

22) Which of the following features is CORRECT about platelet? /
fFeafaf@a & @ Fla-ar waor ey (@) F | F w7
1. Multinucleated /agfm@r (ﬂmﬁ%ﬁ'ﬂﬁ)

2. They are Lobed nucleated / & @il Hﬁ'@g ga gl

3. Binucleated / Giddghl (T8 IFelUs)

4. Non-nucleated / 37ehgenl (alieT leflf?»ﬁ'@?%’)

Correct Answer :-

« Non-nucleated / 37! (Al =TFeIUCS)

23) What are local hormones? /

TR (Awer) g@AfT F4T 1 87

1. They are secreted by exocrine glands. /& Sfg:@rar JTAAT =CIRY aifad g gl
2. They are secreted by the cells. / I SIRAHI3T GaRT ATAT Bl 8|

3. They are secreted by endocrine glands. / & 3id:91dT AT ganrT @rfdd gid gl
4. They are secreted by intestine. / & 37id garT @1fad &1 &1

Correct Answer :-

« They are secreted by the cells. / & ITRARTAT CarT g g gl

24) what are’ molecular scissors’ in genetic engineering? /

eI HTEY 3 ‘ae S @ AteegER Mo FT
1. Restriction enzymes/ ITde eIl ToollgH

2. Vector DNA/ d&eX SITAT

3. Passenger DNA/ Y8R Sivaiw
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4. DNA probes/ 3ITT HULETSH AT SITAT ST

Correct Answer :-

« Restriction enzymes/ IfdeeIe TealIgH

25) Some persons may no longer respond to drugs. A higher dose is needed to acquire the same effect. This
condition is termed as: /

o gfdd garst W gfafear 3ar 9g #X &d &1 A WHE IIod WA F AT o 3T gus fi
TERIHAT il &1 30 ToUfT +1 Fer Sar &

1. Withdrawal / faesR (faggter)
2. Tolerance / @gaA2letar

3. Rebound effect / Re138 9819
4. Resistance / 9fcIer
Correcthnswer - |

« Tolerance / GgaAefierar

26) The main organ that gets affected due to alcoholism is liver because of: /
HEIUIA & FROT FATAT gl arell HET 39T IFa ¢, FAwH 0T §:
1. Interferes with detoxification / fawgoT (fSciedifhdhera) & @Y gEasa
2. Excess bile pigment / 31faRed fea aofs

3. Fat accumulation / I&T T TIF

4. Glycogen storage / IelTgehloled HSRUT

Correct Answer :-

« Fat accumulation / 8T &T T

27) Jerking of knee when hit below knee cap is an example of: /

geat A1 9 (W $W) & AT F CHU T W ge 1 A e F T 3ET ¥
1. Conditioned reflex /3@?@?—[ gfaad

2. Simple reflex / T Ifaad

3. Natural sensation/?ﬂ%ﬁiﬁ TdeeT

4. Acquired reflex / 3UTfaia Uidad

Correct Answer :-

« Simple reflex / ¥ 9iaad

28) As a person ages, which of the following tissues becomes less permeable, rigid and insoluble? /
AW wF =afFa g1 gr §, PRl # ¥ F9-w1 FaF FA IR, T vd HfAO 9 S §2

1. Reticular tissue / STTToleT Fde
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2. Collagen / @lelstel
3. Yellow elastic tissue / GTelT IIET Fddh
4. Globulin/?’@gﬁlﬂ'

Correct Answer :-

« Collagen/ Sreisted

29) Deficiency of Vitamin K reduces the concentration of in the liver of man/
Rafde K w3 77 F aga #T Wewar F FHA FCA B

1. ascorbic acid / TEhITaeh 37l

2. acetylcholine / (A CAICE

3. prothrombin / T {FaeT

4. ATP / W&

Correct Answer :-

« prothrombin / SN fFe

30) Alternate name for STDs is: /
THAE FT defous AT %:

1. Bacterial disease / Sfiarfaeh 9T
2. Viral disease / %srrulaﬁr-r T

3. Contagious disease / TARTH AT
4. Venereal disease / Ifdsr TaT

Correct Answer :-

« Venereal disease / IfaeT T

31) Alzheimer's disease is associated with which neurotransmitter? /
IreatsaY 1 Wr e s (aofer aRE) @ w&fa 32
1. Glutamate / Gﬂ@ﬁt

2. Acetylcholine / VTS eTehIfoleT

3. Norepinephrine / FRTRHIT

4. Seratonin / ACIfeleT

Correct Answer :-

« Acetylcholine / UHTSclehIToled

32) There are 12 pairs of ribs in man, of which are false ribs. /

Fasg #1258ttt gt &, e @ ITHTEY qETAAT gyl &l
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1.2
2.3
3.4

4.5

Correct Answer :-

33) Persons who have O blood group can receive blood only from O group. Give reason. /

e cafFaal &1 3T 397 0 AT §, 7 Faw oF ¥ & TR urcd I FA §1 FROT FARA
1. They are universal donors. / @ A8 A gar aia &1

2. They have both A and B antibodies. / 3 A 3R BalAT ufavelr (TeEiar) g1a &1

3. They have both A and B antigens. / 3e131 A3 BeET Uit (Qa\ﬂrl) g &1

4. They have no antibodies. / 3+ @is UfaRelr (Vi) AT gid|

Correct Answer :-

« They have both A and B antibodies. / 3181 A 3R Ba=r ufarelr (vEisn) g gl

34) The shortest duration of muscle contraction is exhibited by: /

R Hpae H TR DA AR P F qaRT vaRia B o
1. intestine / 3T

2. Heart /&cd

3. tongue / STT9T

4. eyelids /qﬂéw'

Correct Answer :-

« eyelids /tl?—l%

35) Blood components are prepared in blood transfusion centres. Which of the following is NOT such a product? /
T AU F@l H W & gead AR Fe I §1 Ffaf@a # F sia-ar 1 3eag 78 82

1. Red cells / @ITel ShITIRIT

2. Platelets /ﬁa'rug (Torceied)

3. Plasma / 9ged (TellaHT)

4. White cells / @%e HITARIT

Correct Answer :-

« White cells / e ahIfAHIT

36) Pathogenicity of can be suppressed using interferon. /

Y MTSTTHdT, SSTHIIT HT STANT FIT S8 ST Tl 8l
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1. virus / ﬁ“ﬂ'f{l

2. fungi/ &deh

3. protozoa / QIEISAI3T
4. bacteria / SiIaT9]

Correct Answer :-

o virus / ﬁ'qTU;r

37) As one ages, the immunity of our body decreases because of: /

S-S 37 Feh &, e wR A QT wiRiyS avEen (FEgRE) BT & FRT geddt ST &
1. Waste accumulation / 379frse o

2. Thymus degeneration / ATSHH 3T YdeT

3. Weak body organs / R & HAAN 39T

4. Improper endocrine / Hﬂﬁ?{ 3icT: grar

Correct Answer :-

o Thymus degeneration / ATSHT 3T T

38) The actual site of attachment of spindle to chromosome during the cell division is: /
T fermerer & Sier s Y IoRgE & Feagerar F A TAS g g
1. Tip of chromosome /W & e

2. Kinetochore / FISs1eiehX

3. Secondary constriction 1 /aﬁ?hw '\EiﬁU‘fFl' 1

4. Secondary construction 2 / &fdcide HehIUTT 2

Correct Answer :-

« Kinetochore / FIEsIeIh

39) The formation of blood cells in bone marrow is called ./
Y AT H & FIAFIIN F 76T F _____ FgT SIal gl

1. Haemopoiesis / BATITT A

2. Leukopoiesis/m

3. Thrombocytopoiesis / YFRIATSC AT
4. Erythropoiesis / TRATITCTEH

Correct Answer :-

« Haemopoiesis / gAY

40) A pair of the same chromosome, one belonging to the maternal and the other to the paternal is termed as: /
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FHA ORI FT Th I9A @A T A F 3R @1 g F A&fa g ¢; @ sganar &
1. Heterozygous chromosomes /%W’{I?ﬂ?ﬁ' W

2. Sister chromatids / 9g Hﬁﬂ:ﬁ

3. Non-sister chromatids / 376 318 (FlI-[AFT HIACISIH)

4. Homologous chromosomes / TSTTAIT BN K

Correct Answer :-

« Homologous chromosomes / TSIl IOTHA

41) Erythrocytopaenia leads to: /

TRYMEEENAAT & FROT AT g §:

1. Outnumbered RBC / 3IRETET Fr 318 gEar

2. Decrease in RBC and Hb / 3TREIRAT 31X Hb & FH#T

3. Defective RBC/W AT

4. Improper maturation of RBC / 3IR&T&T T TS aRgSFar

Correct Answer :-

« Decrease in RBC and Hb / 3TRIAT 3R Hb & T

42) Homologous chromosomes are undergoing synapsis. Which of the following chromosomal mutations is likely to
happen at this state? /

FATART IO FALFAST ¥ IoR W ¢ 39 e 7 feafaf@a & § fre qorgh seafada & g &
HHTIT &2

1. Deletion and inversion / CRICGRECRCEIGG]

2. Deletion and duplication / TaeliaeT Tq Hﬁﬁﬁw

3. Duplication and translocation / H@ﬁﬁWUT Td TATAR
4. Translocation and inversion / TUTATAR Td TaelldeT

Correct Answer :-

« Deletion and duplication / fdeilusT Tg ﬂﬂﬁﬁm

43) The collective name for LH and FSH is: /
LH 3R FSHF T aefew a1 o

1. Vasopressin / d8TIf8eT

2. Gonadotropin / AMASIEITAT

3. Enterogastrone / Tec I IeT

4. Somatotropin /Fﬂﬁﬁ@fﬁlﬁ

Correct Answer :-

« Gonadotropin / IASICI U
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44) In Biotechnology, is used to induce root tumours in plants. /

Sa-viezifad #, FTwer el #F Aer el A IR F@ F e v g
1. None of these / 331 & a"ﬂé' Bl

2. Agro bacteriumbasilis / T §FEIRTHS T

3. Agro bacteriumrhizogenes | Tl §FEIRIFRTZA AT
4. Agro bacteriumtumefaciens | Tl WWW?‘WW

Correct Answer :-

o Agro bacteriumtumefaciens / 0T SFEIRIHSTHGIATH
s a8

45) Name the gene which synthesizes a repressor protein in an Operon. /

ST #T 9 FaRY A UF HRIT A vF gHARAT VAT F FRAVT FaT §
1. Operator gene / T=Teleh Silel

2. Structural gene / TITACHS il

3. Regulator gene / TR SfieT

4. Promoter gene / T&&h SileT

Correct Answer :-

« Regulator gene / foam#es SieT

46) As per Mendelian monohybrid cross, when a Garden Pea with axial flower is crossed with terminal flower, it
produces always axial flowers due to: /

AvSfoge & AAEIENE HF F AR, 59 H&NT Gl arel FoliT & A 1 3y (fAae) g & @y
0T TR STer &, @t 9§ e ey wal 1 3eueer wear §1 W1 R & FROT g §:

1. dominant trait / FHTAT ST&TOT

2. blending trait / GFFAHOT &0
3. recessive trait / 3T9eel oI&T0T
4. incomplete trait / 3-Tq(\17‘f oT&ToT

Correct Answer :-

« dominant trait / FTAT ST&T0T

47) Restriction enzymes are obtained from which of the following organisms? /
wfaete tease Pafai@a § ¥ e T @ area @

1. Fungi / shdeh

2. Plasmids / CelTEAS

3. Bacteriophage / Gﬁ'd’TUlﬁﬂGﬁ

4. Bacteria / shawg
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Correct Answer :-

« Bacteria / Gﬁ'd'lUl

48) Nomenclature of enzymes is done on the basis of: /

TTgHAT T AAvgTa AEfaf@d & 3R W A §:

1. The cofactors they are associated with / =} Heh{h 99 9 gsg @ﬁ %*

2. The end products formed / Affa A\ 3cue

3. The type of reactions they catalyse / T 9ehR b HTATHAIT &l I IURT = &
4. The substrate on which they act / dg 3Te:TX 9 W T FT A E

Correct Answer :-

« The type of reactions they catalyse / ST TR FI JFTATHIATIN A T 3ART = &

49) What are replacing bones? /

gfaeardt i ar gl 82

1. Bones formed by the ossification of cartilage. / 39TEY & 31EfHoT CarT AT &= |
2. Bones formed by the ossification of tendons. / &3 & 31EAMHI0T T Foir 1fEAT|

3. Bones formed by the ossification of connective tissue strip. / IS Fded Ugl o IEOT aRT i1 AT
I

4. Bones which are formed in the visceral organs. / ITTEAAT S SATAREN 3790 & §eIdr %tl

Correct Answer :-

« Bones formed by the ossification of cartilage. / 3UTEY & 3EAhoT IR AT 3 |

50) Extrachromosomal DNA seen in certain bacteria are termed as: /

o Sia] # 3@ I g FfARTa FeFE (TEemANE) AT T Fl AT o
1. Phage DNA / fa&isi gioaw

2. Plasmids / CElTEHAS

3. Plasmodesmata / Gﬁaawagr

4. Cosmids / ITTHS

Correct Answer :-

« Plasmids / TATIEHS

51) Potassium metabisulphite is generally preferred over sodium metabisulphite as food preservative because: /

RRTH AEETCHEE F AT ARIA AcEsderne  A0F @ET aTF & 9 & gdg fHar
ST B, FiE

1. It prevents growth of microorganism./ I F&Hs & I &l AshdT gl

2. It preserves the natural colour and flavor of food. / Ig ot & FITT%E W@ 3R TOE FF ERR QT 8l
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3. It does not contribute sodium to the diet. / Ig 3R H AISTH I AIET Tal Ll gl
4. It gives out sulphur dioxide. / Jg TeWT STS3TFATSS ST &1

Correct Answer :-

« It does not contribute sodium to the diet. / Ig 3TER H TIZIH &1 9IS F&T AT &l

52) On squeezing an orange seed, many embryos of different size and shape is seen! This can be attributed to: /

TF R & Ao B fFEEa w), Affes s R R & #5324 & I Bl sue fow e &
Scaterll AT AT &

1. Polyembryony / Sg3]oTcll CIcye==eE))
2. Embryo cloning / 30T Fellfetar

3. Apomixes / 3THISTelel (VUITAFAH)

4. Multiple fertilization / §§ IGLEG]

Correct Answer :-

+ Polyembryony / SEHUICT (GleluFsrale)

53) Cellulosic cell wall is absent in: /

It P AfeT swe seuieaa @ &:
1. Pinus / 91S<189

2. Spirogyra / TUTEIRTET

3. None of these / S8 & IS oTgfl

4. Mucor / FH

Correct Answer :-

« Mucor / T

54) Which among the following are sensitive to pollution, and are termed as pollution indicators? /
frfaf@a # & Fla gquor & i Fdeerelier §, 3R B Jquor Fhas 1 a9 &7 am §2
1. Fungi / shdsh

2. Algae / dTer

3. All of these / B'Q'{ifl-?l' AT

4. Lichens / cTSaheT

Correct Answer :-

« Lichens / olgdhel

55) Which among the following was NOT a criteria used by Whittaker for the five kingdom classification? /

fFfef@a # ¥ Fia-a1 o s geitEtor F [ Reat ganT 39ahr B = AFes J8 9
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1. Mode of nutrition / 9I5or fafer

2. Nature of habitat / 3TaTd I ‘;@%

3. Cell structure / ShITRIRT TXHAT

4, Phylogenetic relationships / aﬁa’tﬁ-ﬂ'ﬂ' ey

Correct Answer :-

« Nature of habitat / 3marg &r ‘;I'efﬁ'

56) Which of the following is a diploid cell in a mature embryo sac? /
frifafae # & St v IRTET qOT FY F GRIOE PR 2
1. Antipodal / SfasamrETd ( )TEMIESA

2. Secondary / giadigeh (Vehsd)

3. Central / g (Hge)

4. Synergid / TETT AT (FHATTS)

Correct Answer :-

« Central / gh (Hgd)

57) Which of the following processes is NOT directly related with detritus food chain? /
frrafaf@a o & la-dt wfsar @Y IR TRy Ja § FEfa a1 82

1. Leaching / fe¥&TreteT (eifian)

2. Catabolism / 39<I I

3. Photosynthesis / TRTeT FRTHOT

4. Fragmentation / TaIdeT

Correct Answer :-

« Photosynthesis / TSI TLTOT

58) Which of the following is the correct sequence in xerarch? /

fafaf@e & ¥ Fa-ar rFaeh# a8 e &

1. Algae, lichen , moss, ferns and higher plants / Q\\Tﬂﬂ, Shed, FIV'IF, Wl 3 3T d1ey
2. Lichen, algae, moss, ferns and higher plants / r»nsév?r, 5131?[, Fﬁ'??, Bl 3T 3= g6y
3. Lichen , moss, algae , ferns and higher plants / CIEETH HT'H, fard, Fh_off, 3=d Yicq

4. Lichen, moss, ferns and higher plants / ATShed, H\TJQ:T, el 3R 3=T Uey

Correct Answer :-

« Lichen, moss, ferns and higher plants / TlTSheT, ArE, W7 3R 3T 91y

59) Which of the following arrangement of microspore in microsporogenesis is the CORRECT pair? /
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fAmfafaa & ¥ agdieeEa # aUden] B FlF-H TG @€ LA 82
1. T shaped = Aristolochia / T 3T = URTETATRIT

2. Decussate = Magnolia / SITad= HIalelar

3. All of these / 3'CI'«’§IDch |

4. Linear = Asclepias / ¥dig= v&Falaa

Correct Answer :-

« Allof these / 39 T8t

60) Which of the following wall layers of anther shows binucleate cells? /

Prfafle & & WEY 1 S BT W aRSa (Teeaitae) SR R §2
1. Bpidermis / 3ffererey

2. Tapetum / HIEaT

3. Endothecium / 3iqefifaas

4. Middle layers / ST ST TRl

Correct Answer :-

« Tapetum / ¢UicH

61) Which of the following is an INCORRECT harmful activity of Cyanobacteria? /
Fffad & ¥ Sl9-f AR 1 vF 30T gfFeRE aafafer g2

1. Some cyanobacteria grow on buildings and historical monuments in rainy season, which cause discoloration and
severe damage. /

TO HFANFIRAT af ®g # AR Td UGS TARH W Ga9d ¢, [STad Afelafemor va 78iiw
gafer gl 1

2. Some cyanobacteria like Anabaena release toxins in the surrounding water, which is harmful to fishes. /

PO ASANFIARIT S o WA 37967 I & qlelt 7 fqwiered geredt 1 foedera o § St #Asforat
F fav gfaers gar B

3. Some cyanobacteria cause damage by growing on textiles, cordage and tents. /
$T ABAGFIRTT TET, STeTell T TG &€ T G JHA TG &l
4. Lyngbya, genus of cyanobacteria, may cause some gastrointestinal problem when consumed. /

o et W foesr, aRASEARET & e Fo Soud Fadl Faer dar # @9 8

Correct Answer :-

» Lyngbya, genus of cyanobacteria, may cause some gastrointestinal problem when consumed. /

YT et W fowsar, e dRar & i $o soud datdl gaem dar aX @9

62) Which of the following is NOT a household preservation technique? /

frafaf@a § @ Fla-dr @e FE0r awdlE T8 82
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1. Dehydration / feoTellenXoT (TSgI2320<)

2. Lyophilisatio / g&@ IRTT (o grsoher)

3. Salting / FHIT ellall

4. Sun-drying / g9 H gyr=r

Correct Answer :- |

« Lyophilisatio / g T3MTT (f6H caheT)

63) Which of the following is NOT a cofactor? /
Aff@a & ¥ ST tF dgFrE (PrhFex) 781 &2
1. Metal ions / 8T 31T

2. Apoenzyme / U'Cﬂm

3. Prosthetic group / %ﬁﬂ qHg

4. Co-enzyme / Tg-UolISH

Correct Answer :-

« Apoenzyme / THIUSIISH

64) Which of the following organisms lacks a cell wall? /

rfaf@a & & sib-ar Sha Fike fca Wa & &2
1. Mycoplasmas / HTShICATSHT

2. Archaebacteria / 3G SHaTO] (3MFhFEIRAT)

3. Eubacteria / Folaro] (EFEIRa)

4. Cyanobacteria / '\EIT«’J?ﬂGﬁEﬂUI

Correct Answer :-

« Mycoplasmas / HISHICATSAHT

65) Which one of the following is NOT a feature of a prokaryote? /
Prfaf@a 7 ¥ Fia-dt & Teses (NFRAR) A fAaLdvar a8 32
1. None of these / 318 ¥ &I gl

2. Absence of well-defined organelles / JEasc 30Tt I 31@?@21'%

3. Absence of a well-defined nucleus / HEIS g hI EHW

4. Absence of cell wall / SIfeT AfcT T 34?;11??4%

Correct Answer :-

« Absence of cell wall / @IfRIehr T &I 3reqareufa
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Which one of the following sets of codons does NOT code for any amino acid, hence they function as stop codons?
/

faf@d & ¥ Fla-a1 F1a A<, FdY off o=t 30 & AT F13 78 Far &, 3000 § L9 FsaT F
T H & Fa 2

1. UAC UAU UGG
2. UGU UGA UGG
3. UAA UAG UGA
4. UAA UACUAU

Correct Answer :-

« UAAUAG UGA

67) Which one of the following characters is related to Replication and NOT to transcription? /

famfaf@a & ¥ Fla-ar vw qar yfasfa @ v afra sfaees @ @@
1. Catalyzed by RNA polymerase enzymes / 3TRUSAT UifoleRd TSTSAT CART 3ART 8l &l

2. Occurs in the G1 and G2 phases of the cell cycle /
IR Tk &I Gl 3R G2 IEaEAMH 3cTeeT BIaTl &l
3. Products remain within the nucleus / 3c9T¢, g & 13?}( %I
4. Takes place along one strand of DNA. / SIUIT & Ueh '\E{gﬁ (¥¢3) # giar gl

Correct Answer :-

« Products remain within the nucleus / 3c916, g & I@d %FI

68) Which one of the following objections of Mendel’s theory of inheritance was totally new and unaccepted by
many Biologists of his time? /

@ § @ Avsa & e & R F1 FI9-91 vF 3187 T awg § 797 3R 30F 79T & 75
Safasnfaal garT sredierr an?

1. Mathematical approach / ITTOTAT T fS&ehIoT

2. Physiological approach / SIfA$T a1 IRR-fhaTcas giSeahivT
3. Biological approach / Sifde EfSceptor

4. Geographical approach / Hidlifored TceIoT

Correct Answer :-

« Mathematical approach / 30T gScahRIoT

69) Increasing the concentration of accumulated pollutant along food chain is known as: /
e H@er A GRd WguF I 96l Wigar Feowl o

1. Bioaccumulation / Sa&adsT

2. Bioremediation / STarIaROT

3. Biomagnification / g AL
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4. Eutrophication / gq‘fqtrr

Correct Answer :-

- Biomagnification /St 3maeeT

70) Photophosphorylation starting with PSII is referred as non-cyclic because: /
PSIHE & Bl T PIEIBIEPRIALT (FHIRI-BRGINe) FI T FgT AT &, FaI1oh:
1. Stroma lamellae membranes lack PSIL. / TEHAT oo Bifeerarl PSII IR gl &
2. It involves both PSI and PSII. /
sga PSI3R PSII gt enfaer g £

3. The electrons released by PSII are accepted back by PSII. /

PSII & fo¥#{eFcT Selergial PSII GaRT a9 IR &Y fT ST &

4. The electrons released by PSII are accepted by PSI. /

PSII & fo¥#{&FT Selercial PSIGART EEhR fhd ST &

Correct Answer :-

« The electrons released by PSII are accepted by PSI. /
PSIL & e Solehdial PSIEART FhR fhd il &

71) Water is a medium for the transport of male gametes in plants for fertilization, EXCEPT for: /
fd=rer & faw diut F s geAsl & dRaes 9 o & AeAH § AER gwE:

1. Pinus / 9IS

2. Spirogyra / TUATSIRIET

3. None of these / 318 & FIg TeT

4. Selaginella / TolTolaiell

Correct Answer :-

+ Pinus / 9IS<18
72) The technique of growing plants in a nutrient solution is called i
9vE geal & ater 7 dl F S i awedls g1 ST Bl

1. Hydroponics / §TSaIalfeerd
2. Mineral culture / @fasT aeiaT

3. Nutroponics / Fﬂ@@lﬁlﬁ
4. Water plant culture / STl ey Tdeel

Correct Answer :-

« Hydroponics / §TS3IaTTelea



73) The filamentous green, algal-like juvenile gametophyte of Funaria is called ./

FHRAT & dqe & (Reomiew i), dare-wee RriR ey, (hawse) # T ST ¥
1. Prothallus / 9o

2. Protogyny / FTerstelr

3. Protonema / FICIeTdAT

4. Protozoa / QICISi3im

Correct Answer :-

« Protonema / WEITAT

74) The part/s of the diseased plant which will be taken to obtain a virus free plant by tissue culture technique is:
/

e 9l &7 97 REwr Y 5 Faw dade awedls @R R gEa dtar greg ww F A o
SITee:

1. Palisade parenchyma / TH Hadh

2. Both apical and axillary meristems / MY 3R FelT [esdas a=ar
3. Apical meristem only / hael iYW fasr=dids

4. Protoplast / JeICelTEe

Correct Answer :-

« Both apical and axillary meristems / 2§ 3R Fela fGssaras a@r

75) The term ‘virus’ means venom was coined by: /

TR g F Y AT §; TF g% qarr wfauriea B = an
1. M.W. Beijerinck / TH. Ssed, CESITGY

2. D.J. Ivanowsky / 3T. SI. Saleeehl

3. Louis Pasteur / ?:I;é’ &l

4. WM. Stanley / S50, TH. FToll

Correct Answer :-

« Louis Pasteur / Tv_l:é' &R

76) The disc-shaped structures seen on either side of primary constriction in a chromatid is: /
refaoreE A wrafe Wt & Sl 3R ad S arel BF & IR B wIEent g
1. Kinetochore / FISsIcipk

2. Centrosome / dRehehl T

3. Centromere / J[ORLATgG
4. Centriole / AR&HG

Correct Answer :-
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« Kinetochore / SISa1CIhIY

77) The type of plant breeding in which several pure lines are mixed to develop the heterozygous variety with
genetic variations is known as: /

9l i aral F gFER A FEfE BeraEt F oy Ryagras) e TEla &@ & e 555 g
derma T fre o €, a8 Feera &

1. Pure line selection / g TAHHA aROT (TAR ollgl Helehere)

2. Mass selection / Tgfd aROT (AT Helarld)
3. Bulk method / Seer fafer
4. Pedigree method / gemdelr fafer (J=aft fafe)

Correct Answer :-

« Mass selection / Tgfcl aROT (AT Helaale)

78) The second trophic level in a lake is: /
wF e 7 gl difesar W &

1. Phytoplanktons / 9TgY Teldeh

2. Benthic forms / el &

3. Fish / #ASelr

4. Zooplanktons / HTfOTCeIdeh

Correct Answer :-

« Zooplanktons / HTfOTCeldeh

79) The universally applicable law of inheritance is: /
FRATTHA FT Fao o] fazer 8

1. Law of segregation / faaister &1 &

2. Law of dominance / SHITadT &l &

3. Law of incomplete dominance / 3-1'3?‘( qHTfaar &1 @ae
4. Law of independent assortment / Tacia AqcYggel =l R

Correct Answer :-

« Law of segregation / Ta@aIstel &I o3

80) The rate of formation of organic matter by consumers is: /
ST GERT FTEEE TeR & R € w3

1. Secondary productivity / aj%?nw Scqrgshdr

2. Net primary productivity / [& qrafAe 3cargehar

3. Primary productivity / 9TIfHe 3cdrgandr
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4. Gross primary productivity / Hehel JrIfHe 3cqrGehdr

Correct Answer :-

« Secondary productivity / aj%r—ﬂw 3cHigehdr

81) The presence of a specific mutation that is responsible for causing a particular genetic disease before the
actual onset of the disease can be detected by: /

s faflse scafada #r suftafa St Sard # aeafes qETd @ 96d T Ry agafe dEn da
A & v searerh &

1. ELISA / SUS3SUHT

2. PCR / YIHI3IR

3. DNA fingerprinting / 30T ThaRTifeaT
4. VDRL Test / dTS13TRUS 16707

Correct Answer :-

« PCR / Q3R

82) The dicot plant that has residual endosperm in its seed is: /

T & dior & AR U I g TIET (ST cie) §:
1.Pea / AX

2. Groundnut / H\?I'Clﬁ?f

3. Castor / 33T

4. Pepper / el f&=r

Correct Answer :-

« Castor / 33T

83) The cyclic zero waste procedure where waste products from one process are cycled in as nutrients for other
processes is known as: /

TR T AIISe Ay Owd e 9k ¥ P safise searel # s afeanat e dive aeal
F T H gfera fFar smar &

1. Organic farming / Sifdeh Wl
2. Integrated waste treatment / Uﬁﬁlﬁj_d' 39fIse 3TAR
3. Integrated organic farming / Uehlshel Sifdes Wt

4. Soil management / #eT Setle

Correct Answer :-

« Integrated organic farming / Tehishel Stider Wil

84) The oogonia start dividing during foetal life and their division is arrested in: /
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T $or Sfiaerdrer & R QST g1 4E FT &1 § R 3o fasrmere & farT # %
forar S &

1. Metaphase I of meiosis / ST%EUT Fr FAEATGEATI
2. Metaphase of mitosis / HHFICT HT FEIEEAT

3. Prophase I of meiosis / Hﬁ?q‘\?l'UT I q@‘la?gﬂl

4. Prophase of mitosis / HHIAT Hr q‘\TJﬁT:R':?JT

Correct Answer :-

» Prophase I of meiosis / H‘iﬁ“v'lfl'UT r CI“T:I'(IEIF?JTI

85) The site of ATP synthesis in mitochondria is: /
SO (AgEITlegand T WRATT i WZE (FUA) &

1. Inner membrane of mitochondria / FFHOIHT (ATSIRI=gaT) FHr Al Beat

2. Cristae / fsh€e (3 d:&hch)
3. Oxysome / JieFEEET
4. Matrix / 3TeTET (HfeFa)

Correct Answer :-

« Oxysome / 3T a

86) The algal component of lichens is termed as: /
ABHT & A9 gSF F FeT ST &

1. Symbiont / Fgodr

2. Mycobiont / Faenier

3. None of these / 31 & EF?fé' el

4. Phycobiont / faTelrer

Correct Answer :-
« Phycobiont / SfaTerrer

87) The extractof ___ is used to cure malaria. /

AR A SF FA F [e _ F 3F &1 39Ahr fFar s g
1. Mint / e

2. Cinchona / T&eTehlsT

3. Cannabis / S=tfee

4. Atropa belladonna / TSITT Feisl=IT

Correct Answer :-

« Cinchona / f&eTepiaT



88) The mass of living material at each trophic level at a particular time is known as: /
et Ry oy W adE ot Taw W SAifda werd & geaAnr @ Fer S
1. Standing crop / 3T wE

2. Standing state / TR FEAfT

3. Food web / T8IX Silel

4. Food chain / 3TT8I¥ 8[@?—”

Correct Answer :-

« Standing crop / TSI W

89) A cell shrinks when it is placed in a/an _______ solution. /
w FRF_ e # W@ S W) s s ¥

1. hypotonic / 3TCTIRTHARY

2. acidic / 31FIT

3. hypertonic / 3ITAIRTEART

4. isotonic / HHIITHTY

Correct Answer :-

« hypertonic / 3TTTARTERY

90) The organelles that do not form the endomembrane system are: /
T 3TF AT Aed: el deF (TAFIA TATeH) gl T @8-
1. Mitochondria /
AROIHT (ATSSIHIT=5aT)
2. Vacuole /
Rferctent
3. Rough Endoplasmic reticulum /
Tl eclged! Sifolet
4. Golgi apparatus /
Alleoll 3UhIUT
Correct Answer :-

¢ Mitochondria /

GAROIHT (ATSCIRlio5AT)

91) RNA is synthesized in which of the following organelles? /
IRTAT F EART § ¥ R 3w A FeART B s 2
1. Cytoplasm / ShITRIeRT eIt

2. Mitochondria / WEFT (FTSCIhITeg3T)
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3. Nucleus / shgeh
4. Nucleolus / higar

Correct Answer :-

« Nucleolus / higar

92) Neutral solute move across the plasma membrane by: /
tareAT fBred # sere Ao $8F g@rT afa A §:
1. Facilitated diffusion / gfaerm faeor

2. Osmosis / YITHIOT

3. Simple diffusion / Tl TAHIOT

4. Active transport / e qﬁﬁ%ﬂ'

Correct Answer :-

« Simple diffusion / &Xel fGEROT

93) In which stage of meiosis does the actual reduction in chromosome number occur? /
e & fF w@xor F quige e A ardafas Al g 82

1. Telophase 11 / Cellthel 11

2. Anaphase I / TaAThST 1

3. Anaphase II / Uﬂﬁﬁl’ II

4, Telophase I / &eirther 1

Correct Answer :-

« Anaphase I/ TaTtho 1

94) Synaptenemal complex is formed during: /
AT SiFcdey &1 AT 39 e aar &
1. Pachytene / ¥l 3aEAT

2. Diplotene / Gfd9Ug 3ra€dT

3. Zygotene / IAHFA &7

4. Diakinesis / IR3TTcishaT

Correct Answer :-

* Zygotene / JIFAHFA HaEAT

95) An element that is essential for nitrogen metabolism is: /
TS dcd S ASSS TA99d & AU Jads &
1. Boron / §RisT
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2. Magnesium / HIATTAIH

3.Tron / dlig
4. Molybdenum / AlfclsssTd

Correct Answer :-

« Molybdenum / Fflesatd

96) Nissl’s granule is composed of: /

e st AT & a&t g &
1. Mitochondria / AISEIehl =g AT (FAhT0TeRT)
2. RNA / 3IRUAT

3. DNA / 3ITT
4. Ribosome / TS

Correct Answer :-

« Ribosome / TSSIETH

97) Name the type of tissue that has cell junctions. /

39 YFK F Fas & €17 9dB0 owd a4 sFeeT (@R @) aa &
1. Muscle tissue / 92ft Fcleh

2. Nerve tissue / AT Fcleh

3. Epithelial tissue / 3Uehell Hdsh

4. Connective tissue / TS Fcidh

Correct Answer :-

« Epithelial tissue / 39chell 3dsh

98) CANCELLED

Which of the following is an INCORRECT development process of post fertilization changes? /
fFfaf@a # ¥ Fia-dft frieeieay Rad=t i & o e aiFar 82

1. Development of seed from ovule / dotE | T & oo

2. Development of endosperm from central cell / eI ITART T S{\UTEIW' Fr TFhrT

3. Development of embryo from zygote / IHsToT o HOT &7 ICEQE

4. Development of fruit from ovary / 3STT & el &I [dehrd

Correct Answer :-

« Development of endosperm from central cell / F&IT IfART F S{UTCﬂ’Sf FT Tara

99) CANCELLED
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Parenchyma can be distinguished from collenchyma by: /

NeFFAT FT FeHsAT § A7 ganr 3 fFar o dFar &

1. The shape of the cells / SITARTIT T HTHR

2. The presence of intercellular space / 3cRTSRITRAS TAT HI 3T

3. The presence of nucleus / Hhegeh sl AU

4. The presence of thickenings at the corners /&l G EYeleT $r 3ufEdfa

Correct Answer :-

« The presence of thickenings at the corners /@Al I el Fr ufEdfa

100) An official enumeration of population with age, sex, occupation, etc is called i
31y, fofaT, sagar anfe & et snfteRe aReroer # Fed &1

1. Population density / STAEEAT elcd

2. Demography / STAHITETHIT

3. Census / STT9T0TAT

4, Population dynamics / STETE&AT ITfashr

Correct Answer :-

o Census / STeTdTOToAT
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